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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1)/O Level
Economics, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance

of the mark scheme.

In this booklet candidate responses have been chosen from the November 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the November 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

0455 November 2023 Question Paper 22

0455 November 2023 Mark Scheme 22

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high ‘Examiner comments

] o8m tee oo .. | @ The candidate provides an

————

1
o
o

L8 accurate calculation.
2:- 02/0 e

Examiner comments explain
where and why marks were
awarded. These help to interpret
the standard of Cambridge
exams to help learners refine
their exam technique.

LB [

Responses are written by real candidates in exam
conditions, demonstrating the types of answers for each
+-1 level. These could be used to discuss and analyse the

Cnswers with learners in the classroom to improve their

skills. j

How the candidate could improve their answer

P ﬁal;‘«[/mnu

¢ (c) The candidate’s response does not identify an advantage from the source material. It is important that
candidates follow the instruction at the start of Q1: ‘Refer to the source material in your answers.’ The candidate
was fortunate that the explanation given could be linked to ‘gaining skills’. The question required candidates to
draw on the source material as the basis for their answers

* (€) The question only required candidates to draw a de/ Thjs section explains how the candidate could improve
demand on the market for bananas. The candidate did| gach response. It helps learners to improve their exam

needed to draw the equilibrium lines to not only Q and |  technique.

Common mistakes and guidance for candidates

e (a) Itis important that candidates get the right denomination figure. Some candidates gave 0.83 and some gave
83%. A small number of candidates ignored ‘percentage’ in the question and gave 83m as their answer.

¢ (b) Candidates needed to identify points from the source matenal The command word ‘Identify’ does not require
candidates to explain the points. Candidates may

* (c) Some candidates identified two advantages| Thjs section lists common mistakes as well as helpful guidance
an advantage from the source material. Asmall| from the examiner. This will help your learners to avoid these
source material but did not explain it. mistakes. You can use this alongside the relevant Examiner

Report to guide your learners.
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Question 1

Example Candidate Response — high

| o8m R o The candidate provides an
| Oim = °fe 0 accurate calculation.

Mark for (a) = 1 out of 1

9 The candidate identifies two
relevant benefits.

Mark for (b) = 2 out of 2

e The candidate needs to identify

?GV\/M l{f's/ (Lcs/tlf Gf FYOMLW 9 an advantage from the source

material. The explanation could have
come from ‘gain skills’.

Cd_) teeﬁ&é{Mbucfw% af MMB’V"\& s w&,ov» “H/\L Mark for (c) = 1 out of 2
Qsovw tniss. do o@tmw» qoccol

e The candidate provides a good
answer, linking progressive taxation
and providing unemployment benefit
to income redistribution.

Mark for (d) = 4 out of 4
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Example Candidate Response — high, continued ‘ Examiner comments

) . D .
PWL::fﬁ;gﬁi\\ |
\ ‘‘‘‘‘‘‘‘ A _ | |

@D( lG.)J- ) > . '\. )
GMN\‘&T\W arnstanelenl - | @ The candidate provides a clear
O c/wch WP&J&( S 5 diagram.

Mark for (e) = 3 out of 4

1A mbcmf J//odwzf; .....
Q‘,@‘S‘O( rfon/ hoodth

LY Germunadlyy s tHhare (s @, e
I

66 - (Huind lowet).
edern food e Lowes &

’ﬁ%wwﬁhﬂiwg;:jifag“mme

é;
§ 33
E
A

MC’M&U

: @ This is a good and clear
approach, that states the expected
relationship, gives supporting
evidence for the expected
relationship, recognises an
exception, and explains why it is an
exception.

Mark for (f) = 5 out of 5
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Example Candidate Response — high, continued ‘ Examiner comments

ﬂWmWM U, We/\,ﬁ,wwy w\»\o{/\;bte/ws
Al odse rvmxfﬂﬁvmzf’t -&AL WoMM«/O
av\hbu{ﬂ /H( d/ H/ws Lowrers b
ot et productied.
O 1“?/\&0{’5\1/1/ 'L\m/wc(fq L 4 dancert asnn |
as {0 whod Hie nemcé/\/o:wwvmﬂbeﬂ/wf&
( duuc.ﬂv jo. .5 601‘“694/\/ ocwit Uvow{ oNg
________ goung o be. Hin ncreose tn

e The candidate gives a good
pr a UM B’\/\e S response on why the cost of
) producing clothes in Honduras is
likely to fall. Several relevant points
are explained, making good use of
economic theory.

Mark for (g) = 5 out of 6
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Example Candidate Response — high, continued

) e The candidate provides a strong
| lanswer that is balanced on both
sides of the argument.

Mark for (h) = 6 out of 6

Total mark awarded = 27 out of 30

How the candidate could improve their answer

e (c) The candidate’s response does not identify an advantage from the source material. It is important that
candidates follow the instruction at the start of Question 1: ‘Refer to the source material in your answers.” The
candidate was fortunate that the explanation given could be linked to ‘gaining skills’. The question required
candidates to draw on the source material as the basis for their answers.

e (e) The question only required candidates to draw a demand and supply curve, showing the effect of an increase in
demand on the market for bananas. The candidate did not have to explain what the diagram shows. The candidate
needed to draw the equilibrium lines to not only Q and Q1 but also to P and P1.

¢ (g) The candidate’s explanation of why the cost of producing clothes might rise in the future is limited. A higher
price of raw materials is identified but not analysed.
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Example Candidate Response — middle ‘ Examiner comments

,33 X A\0O) .3 . ° ) 0The candldatfa provides an
t accurate calculation.

: Mark for (a) = 1 out of 1

o)

) Hﬁmd,cxs PECAN ‘oe exrpmlan& or @ ‘n\%‘nev x‘e,&g So |
coote. _Aan . feoetues _
e Hondotens . oIns. _,%e,ﬁck mmeg mn %mw\ Npe,
LIS osl make  tnose POOORY . Qowy e Wve
{Courty tnos. WQCEE0SIY .. ENOMIC..... Graudth. @

9 The candidate identifies two
relevant reasons.

| Mark for (b) = 2 out of 2

| <) | The Coondry Condh ROk W MShRY Qum& e,@&z;n

oo ek pesReoor . onat ey Yaere” sl e Ny

ﬁppor’ro t‘j _Coskalso . Mae  oesieers | s \ag,
on.. Qleilled ok Wmn(ng oo ‘“%‘“ Skody Scale
will  be p(ou:deo! 9

9 The candidate recognises
workers will be ‘high skilled’.

Mark for (c) = 1 out of 2

LLINA_ U .0Nete C\%(egﬁer
e .,,,,@emgn\ej{ge C)P lccuces NS oMouws - people. k0. have -
e, ceal  evack Qmposo)oke MCIMNE
By poy PG MM . Caage. S \Qm 208 rxs

Juoesicecs. @) - . o The candidate makes the point
of ‘charging those who earn more

| Qs v N a greater percentage of taxes’. The
e f_v.e’af\ CQmment that this VYI|| increase
disposable income is confused.
o Paying minimum wages is not in the
e source material.

Mark for (d) = 1 out of 4

o Q C’Q_\)uvda
- " Qenarded

P tegosk. . St Ak bupanas. ate . seodh.. Soe
e\ ssooiel . Canse . She - cdermand. . for Ahen
e Ancrense . Grs—lemate—rerenser—ortee ety
L 0S L price decre&sej clemoncl . necensed Wos. an.
(")\_)_)C\L:)Q(d,,..,..,g‘\’]fe{— LotYwme demand oueve (O AmD

e The candidate correctly labels
the axes and the curves and the
demand curve is shifted to the right.

Mark for (e) = 3 out of 4

10
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Examiner comments

Example Candidate Response — middle, continued

Je  an e Mok QS Are -Peceage 0L .
. Ipopolakion . .,Mmg% R0 _Qover {8 _aestonses. . She ke
,ﬁxpe!;&m\%

MEYBSES T NONE S REONVL
_xenlakanship | loecudse | uiren \esy

Jerandosdl ot Ne .Q&)\Sﬂ‘ﬂ“@, _
| edwveuted . pecple.....vefer  mnbrustaduce £
e L pemith Qe . bife  exPectancy L ASe

of _skilled. . lavox e doddacs.. so. eeMer |

|deodment  Qndl L pnoee . Q@mnse

-etcenkage.  As. M. %&c*& e ‘(%\Nv\e)

OIS | WAGKE.,

-|-Cotr.__of _ procduckion DO _nefeuse. . Decuse.
denondaninL . oe iR

S QR é&s@@\\& S

neeclecl  an C_ldcﬁfh‘aﬁ*m‘ﬂcmm LA % LU SR o SO
mokestads . aned. __Retng. mote. oo Ao dee ATy

| Romn__ecoromies . of . Scale oIS uamad.Salug
the

andeet  QEoRIES. | OnounGiNG . FOMRS (| HendRNes
moslers Atee  Clothes. orodheriun ger 4o denelih.

prple  are goming. e indughry . Ahae et wsil be
[roge. nombers  of. . Lo anal serledd  wsorlkers
_|udeteln.uxil . incréase  the ,po“oc[bc;h’.\).ft&,g....,

cost Of  procluckion. M adediton o Macl. A

[

A detl omempmymewcmmmcf_@% +hc®

Populaton _Te _wdosleng ond _easthng_nceme. Kk

ool e o
oot sl Cadse e Coise. w0 etces | and\ increasel
Jdesaaind . Hosseves
e aouvemment  tends. to. ineretse  sacome . gnd

socceasel Ol of . CORsOmMeEr.. 3pendiy

as e q\)___mipé.&v___,Q.g.,.m\czrmduc}s.,,,m_

galafes wmntch_means  Yhad pecple o SWW ake. |

{0 bu&\A\ Ahe.__procluels  aflec ¥ ncelsc M prire. |
B Al _sn . onemPloument. doesn 't only yean fatse.

L Prices., erteC _exchange- fode  improved.  Stadesd)

of
L R gc eSS Pol_economyy 18

\mn& one) rigneC \ife €xPectanty . A e, Seeee |
lilcel.\u) i emgo.m%e,._amm_____
Rnuesm[.\_i,,_@

11

G The candidate shows an
understanding of the nature and
causes of the relationship.

Mark for (f) = 4 out of 5

@ The candidate identifies
economies of scale as an influence.

@) The candidate identifies skilled
workers.

9 The candidate’s response begins
well but it is one-sided.

Mark for (g) = 3 out of 6

@ The candidate makes a link to
higher income.

m The candidate links to higher
consumer spending.

@ The candidate provides a good
link between a fall in unemployment
and total demand. These links
could have been developed into
the effect the higher total demand
may have on demand-pull inflation.
The candidate recognises that a fall
in unemployment may encourage
investment but does not go on

to explain why this may reduce
inflationary noise.

Mark for (h) = 4 out of 6

Total mark awarded = 19 out of 30
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How the candidate could improve their answer

(c) The candidate recognised that highly skilled workers would be an advantage but needed to explain why this
would be an advantage.

(d) The candidate could have made better use of the source material.

(e) The candidate incorrectly shifts the supply curve to the right. There was no need to explain the diagram. The
candidate needed to review their work as they might have then realised that the diagram was incomplete.

(f) The candidate needed to provide evidence from the table in the source material to support the analysis.
(g) The candidate needed to provide another side of the argument and respond in more depth.
(h) The candidate needed to respond in more depth by explaining the links in detail.

12
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Example Candidate Response — low ‘ Examiner comments

0 The candidate states the
1a) S g icomectvale

Mark for (a) = 0 out of 1

\\3) AQ °/o woporls come. nUg
7_,3)M hai@rm wﬁt there ond

_hendl mne:-k Dok there  Uhich.
_Cchr.__nteode. . Lvmcx Atondande- . 9

9 The candidate does not make a
direct link between 40 % of imports

. ( """ - | coming from the US and Honduras
(C) S e ~— | gaining from the growth in the US
S AX\ econ O“\K e,dc&\bm% COoIL.... mo&e k\'\e. ,,,,, economy.

anﬂ“\&k ...... Vﬁ- bQ.&:hex o \.X WQ\’keﬁ e | Mark for (b) =1 out of 2

Locuned. .one. u.aor\n

b Mmoo khe.;a
O \oe_ ‘oeﬁt ok b which  con.
| increase )C\\e_ CGDP ond . _ewen.. -P_'K.Po\"ts
G.B, NS, 3 /.\PQ. 3¢ r‘bd.tk.da r QN e eThe candidate recognises good
notruy . Cnoo& ‘rt-\b\d:c&lc:m -.@. . . __ . [reputation and works back to the

( B __ idea of practice makes perfect.
Mark for (c) = 2 out of 2

\)_ u;\».&a_ \’Qsl-ug)c\'\ butxe_ m:rne " “\e_

L)\»x bown oM on__ %@e&o
\b\é&i\“ﬁi&b\ov\% The Wb% JCCK% @ The candidate does not draw

on the source material and does not
< N v directly answer the question.

[

13
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Example Candidate Response — low, continued

&

oSS

we
R e

- \A
a

m M la e b i,
¢ i H i d

a5 %
Pl
et

e ~

. : e The candidate’s mark for the

We %90 300 Yse  Soo boo || shift of the demand curve to the right
Prices) | isconfused with a shift to the right

in the supply curve along the same

"ﬁ\e cLe‘meL J\\\\-%i 'to th& H%ﬂt | line. The.axes are confused. The

explanation was not needed.
me.o.xv: Jc\’\exe. OO INnCYCobe

d_eﬁ\u\d. ’b‘ _Yhe Yonoenoxn._ Mark for (e) = 0 out of 4

) ,_._A,,A\)e.me ola, ’rhe, \—uPo\Jt AneX  bononoy

Qe . %Q ode h&&lth e 6

éutmq_ncL i QJLQ_G-AQ_A. WA &.LDG
lincseoned _bqr Ahe bonomas’  rmeony

S\m.&t da Y Aoe hcgnj: en 6_;5.%\—&_“\ 6

=

Rl ?@’P““t“’“%fli‘gi‘_&‘“ Py
u:h 'lr’ne».b,

al &
)
]
3
)

J>Q_£m Yo ..
R ‘rt,\.ocﬂom\'\\

b For on e,u;nmmt dbchne
0{3_ Oirth_vede  an AQeodh yoke ! con
A Y- &.L%%.\O-\.lt to Cop wiath . ond Jdne.n.

| Xhere T ome peo e “divinag G pov
LW ona ec,«o‘\3 ‘ﬂ mz () ad}x
M The. k,d:e.

L3
o PN \n\-\n\r\ m amuo-n\ha,

\'0 YJV*""““ LA wwv »\.| \AJ ‘-

Hou. duvar i 16:9  and ,L%e_

_ m.\h/ S 15 mesan . Anet

hone i IANT TS

tu\’d'\o\d: mﬁw.m&- c,w\ekb’ W‘\%
t\\uk oNe . POOY. __De there  qon ke

on d,o.ume A '\’he WmG

ch:.QA—U.\Q cx% \V\C&f\ yede '\6 ?ove_\—kkk
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Example Candidate Response — low, continued

o
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mve. Aaere \mwuewuse,

0« toumcu.

| wmeh
leVvenue B ui ‘k\me

| thes Y coton
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| hem 'DQ__C_O.MQ, i h ol
/%Okhue v\% UJk m:v\SMe

\

N axVUn o Yrueye Mu moﬁ- e

b,.,a, %\me S

And

1 other thin

| %Q Lorkew  ane
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hoined ox\b\u.uut. wht@h Meons

. befter
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6 The candidate’s first paragraph
is vague. The second paragraph
does not provide a clear link
between the birth rate, death rate
and poverty. The candidate does
recognise a link between medical
care, poverty, and life expectancy.

Mark for (f) = 1 out of 5

e The candidate makes some
good use of the source material to
identify a number of relevant points
and links training and skills with
higher pay.

Mark for (g) = 4 out of 6
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Example Candidate Response — low, continued

Qr\) V\lhen “\MMM T Ta—

{700 bQC,(‘»u.AL u.h?Jn

@ The candidate interprets

a fall in unemployment as a

fall in employment. There also
appears to be the suggestion that
unemployment benefits make
‘people work’.

Mark for (h) = 0 out of 6

Total mark awarded = 8 out of 30

How the candidate could improve their answer

e The candidate needed to read the questions and the source material more carefully.

Common mistakes and guidance for candidates

e (a) Itis important that candidates get the right denomination figure. Some candidates gave 0.83 and some gave
83 %. A small number of candidates ignored ‘percentage’ in the question and gave 83m as their answer.

¢ (b) Candidates needed to identify points from the source material. The command word ‘Identify’ does not require
candidates to explain the points. Candidates may choose to give their answers in bullet forms.

¢ (c) Some candidates identified two advantages without any explanation. A number of candidates did not explain
an advantage from the source material. A small proportion of candidates identified a relevant advantage from the
source material but did not explain it.

¢ (d) Candidates needed to take the advantages from the source material and each one needed explaining. Some
candidates did not give an adequate explanation of how progressive taxation works. They wrote that a progressive
income tax system takes more of the income of the rich than those on a low income. This is also true of a
proportional and regressive income tax system. The defining characteristic of a progressive income tax system is
that it takes a higher proportion of the income of the rich.

¢ (e) Many candidates provided a written explanation of their diagram. The command word ‘show’ does not require
them to do so. If a written examination of a diagram is required, it would start with: ‘Analyse, using a demand and
supply diagram ..." Diagrams needed to be clearly drawn, well labelled and show the relevant change / changes.
Some candidates drew lines from the equilibrium points to the price and quantity axes but did not identify the
original and new quantities on the axes.

o (f) When analysing the relationship between two economic variables candidates needed to explain the expected
relationship, provide supporting evidence of the relationship from the source material, identify any exceptions and
explain them. Some candidates ignored the data given in the source material. Others described the data without
explaining it. For example, stating that Sweden had 0.2 % of its population living in poverty and a life expectancy
of 83 is just stating what the figures are. An interpretation would be that Sweden had the lowest proportion of the
population living in poverty and the longest life expectancy.

¢ (g) Candidates needed to provide two-sided answers with depth on both sides of the argument. There was
information in the source material that could be developed and they could have included other relevant points.
Candidates should avoid writing points that are contradicted by the source material. For example, it is not
appropriate to write that the clothes industry is using fewer capital goods.

¢ (h) Stronger candidate answers to part (g) and part (h) developed links on both sides. Some candidates produced
strong links between lower unemployment, higher income, higher consumer spending, total demand and demand-
pull inflation. The examination of the other side tended not to be so strong. In some cases, this was because
candidates stated points without explaining them.

16
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Question 2

Example Candidate Response hlgh ‘ Examiner comments

qood A0 amnfodiisd od

et

m\ﬁﬂwﬁx YT S
% cm\gbj wg:ddmz idmhk ]

U et Wcﬂnj _owplned. Lut_

W s

m& el aAbeA . 9

19 mvuk e u(\mw
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el LAWY ay"molﬁ\ PMa
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0 The candidate clearly defines

| |what a capital good is and gives a

relevant example.
Mark for (a) = 2 out of 2

9 The candidate recognises that
low inflation may encourage higher
demand and higher investment but
does not explain why.

Mark for (b) = 2 out of 4

e The candidate demonstrates

a good understanding of how a
reduction in protectionism, in the
form of reduced tariffs, import quotas
and embargoes would affect the cost

| and quantity of imports.

Mark for (c) = 5 out of 6

9 The candidate’s response is
good on the benefits that may be
gained from diamond mining.
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Example Candidate Response high, continued

LMALA t’i:/t UL} w{mu\ ﬁ%mﬁﬂ%;ﬁ e e The candidate clearly links

C diamond mining to the government
f abimw ) S’li ( WW macroeconomic objectives of
% ainad  pruduncl QML fa\f,m,j LLJCQ%'( economic growth, an improved
oo f’wﬁL«-tb! w@wu -decreate WWMMM performance on the current account
ety ‘EL& muﬁ;m 4 dsb/& Exp @%'t“l e% tflete. | of the balance of payments and low
- ddae boanld . Q,Q,gg M unemployment.

a. LJIMWJ% s wp &MM M«b
Mﬁuﬂ BRVNTYPY.V IR N 17 W, % Ww’dx@ M
Wwﬂd@w waonld qﬂ/iﬁ NS Y7y va\xj
y Hm-owu kot v Yo dlanond Wﬁ 6 QThg candidate clearly sFates the
iy f] oha W St le & PWM otherS|deoftheargument|nte'rms
b bas ] 5“"“*\9 MMM ([Lwd ondd deceate ofwh){there mgy bg poor working
9' W “’ wd ese Ho conditions and inflation.
- Wﬁwﬁr W ke . WJW Mark for (d) = 7 out of 8
pﬂf?\f M&MA L 3;%3 M L‘MM wagﬂdoj’ -..| | Total mark awarded = 16 out of 20
RN A . M O hMia
Qb m_t}\.ewh e 'Hn.z d\,mj;,mq eﬁ JBZM WmJL@L
RN B NESY Y VRS J ) 3 %UJAM) Dc%!-\,oﬁat’; dosond w«i
MM_WMJW Trcuated.  dipmond. wising

How the candidate could improve their answer

o (b) The candidate needed to explain the reasons identified in detail. Writing that it ‘makes the factors of production
more affordable’ is not a strong enough argument for keeping costs low.

e (c) The candidate needed to make a stronger link to competitiveness.

o (d) The candidate’s reference to the depletion of resources is relevant but needs to be developed further.
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Example Candidate Response — middle ‘ Examiner comments
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o The candidate provides a
relevant definition and example.

Mark for (a) = 2 out of 2

9 The candidate’s first paragraph
is incorrect as low inflation does not
increase disposable income.

e The candidate’s second
paragraph confuses lower costs and
keeping costs low. The costs would
be lower than without inflation but
this should be explained.

Mark for (b) = 1 out of 4

e The candidate provides a
reasonable answer recognising that
other countries may remove their
protectionism.

Mark for (c) = 4 out of 6

e The candidate provides a
relevant statement that export
revenue would increase.

@ The candidate provides a
relevant statement about the
avoidance of overspecialisation.
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Example Candidate Response — middle, continued ‘ Examiner comments
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How the candidate could improve their answer

¢ (b) The candidate needed to demonstrate a stronger understanding of the consequences of inflation.

e (c) Other forms of protectionism may have been considered apart from tariffs. Towards the end, the response
becomes rather vague.

o (d) More depth of analysis on both sides of the argument was needed. For example, the link between exports and
government revenue needed to be established and explained.
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Example Candidate Responses — Paper 2

Examiner comments

o The candidate provides a good
definition with a relevant example.

Mark for (a) = 2 out of 2

9 Overall, the candidate’s
response demonstrates some idea
that demand may rise.

Mark for (b) = 1 out of 4

e The candidate’s response
demonstrates the idea that the tax
on foreign goods may be reduced.
However, the answer then moves
towards free trade by writing
‘increasing the tax imposed on
locally made goods.’

Mark for (c) = 1 out of 6

9 The candidate makes a relevant
statement but this is not explained.

e A further relevant statement but
this needs to be linked, for example
to export revenue.

6 The candidate provides relevant
statements on both sides of the
argument.

Mark for (d) = 2 out of 8

Total mark awarded = 6 out of 20
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How the candidate could improve their answer

¢ (b) The candidate’s first point is not established. The points needed to be explained more fully.
e (c) The candidate needed to be clearer in writing their response and read the question carefully.
e (d) The candidate needed to link the statements and explain in more detail.

Common mistakes and guidance

¢ (a) Candidates’ definitions needed to be precise. Some candidates gave rather vague definitions.

o (b) Some candidates correctly identified that a low inflation rate may increase international competitiveness but
then stated that this would increase a country’s economic growth rate. Candidates needed to explain why greater
international competitiveness may increase a country’s economic growth rate.

e (c) When answering an ‘Analyse’ question, strong links needed to be provided. Some candidates identified which
methods of protectionism could be reduced but did not adequately analyse how their reduction could result in a
movement towards free trade.

e (d) Itis important that points are not just stated; they need to be developed on both sides, using appropriate
economic analysis. For example, stating that diamond mining will be beneficial if it increases tax revenue is a
Level 1 response. Candidates needed to explain why tax revenue might increase and why higher tax revenue may
be beneficial to be awarded more marks.
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Question 3
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Example Candidate Response — high

0 The candidate provides a good
definition based on a cost that does
not change with the level of output.
A relevant example is given.

Mark for (a) = 2 out of 2

9 The candidate might have
mentioned the fall in total demand
but the reference to recession gets
the mark.

e A relatively brief response but
good explanations are given of
frictional unemployment and cyclical
unemployment.

Mark for (b) = 4 out of 4

e The candidate gives two relevant
supply-side policy measures.

e The candidate provides strong
links between education and
training and a reduction in structural
unemployment. A range of other
supply-side policy measures are
covered.

Mark for (c) = 6 out of 6
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Example Candidate Response — high, continued Examiner comments
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Total mark awarded = 19 out of 20

How the candidate could improve their answer

e (d) The candidate’s points on the other side of the argument: avoidance of wasteful duplication and greater
economies of scale, are relevant but needed to be developed further.
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How the candidate could improve their answer

when giving the definition.
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Example Candidate Responses — Paper 2

Examiner comments

o The example ‘rent’ is relevant.

Mark for (a) = 1 out of 2

9 The candidate identifies and
explains seasonal unemployment.
There is some explanation of
frictional unemployment but this is
not identified as such.

Mark for (b) = 3 out of 4

9 The candidate gives some idea
that a subsidy can create jobs.
However, this needs to be analysed
along with other supply-side policy
measures.

Mark for (c) = 2 out of 6

9 The candidate provides some
limited explanation on both sides but
the response lacks depth.

Mark for (d) = 4 out of 8

Total mark awarded = 10 out of 20

(a) The candidate’s definition is too vague and is not linked to output. The candidate needed to be more precise

(c) and (d) The candidate needed to give a wider and more in depth coverage of the points made.
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Example Candidate Response
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Examiner comments

o The candidate attempts to
provide a relevant example,
electricity, but this is far too vague.

Mark for (a) = 1 out of 2

e The candidate identifies and
explains frictional unemployment.

e Voluntary unemployment is
identified but the explanation could
also apply to economic activity.

Mark for (b) = 3 out of 4

o The candidate appears to be
examining how reducing the size
of some firms and increasing the
size of other firms would reduce
unemployment.

Mark for (c) = 0 out of 6

e Several points are made by the
candidate but they are not explained.
For example, why might all the firms
not have the same price?

Mark for (d) = 2 out of 8

Total mark awarded = 6 out of 20
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How the candidate could improve their answer

¢ (a) The candidate needed to be more precise when giving an example.
e (c) The candidate’s response needed to be clearer on specific supply-side policy measures.

¢ (d) The candidate’s points needed to be made more clearly and explained more fully. It would have been helpful for
the candidate to be thinking ‘why’ when making statements.

Common mistakes and guidance

¢ (a) Candidates needed to understand that a fixed cost is not one that does not change, it is one that does not
change when the output changes.

¢ (b) When examining cyclical unemployment, it is important that candidates recognise it is a fall in total demand and
not a fall in the demand for just one product.

¢ (c) Candidates needed to note that the word ‘measures’ in this question is plural. Candidates were required to
analyse at least two policy measures. When answering ‘analyse’ questions, candidates needed to provide some
depth. They needed to link two or three points between identifying the policy measure and reducing unemployment.

e (d) Itis useful for candidates to highlight key words in the question. In this question ‘fewer firms’, ‘market’ and
‘benefit consumers’ were all important words. Writing a brief plan may be useful for candidates. Both these
strategies can help focus responses.
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Question 4

Example Candidate Response — high ‘ Examiner comments
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9 The candidate correctly links the
demand for labour to the demand for

food.
oo | Poos weathin. _condifont. o Cqunre. B foumen . fo.cut back ..
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“md,uee u(}.,mu\d f,ﬁ}‘ lahowt A . e e e Several inﬂuences_

Mark for (c) = 6 out of 6
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Example Candidate Response — high, continued
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e The candidate analyses the
benefits of living in the city.
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9 The candidate clearly analyses
the reasons on the other side.

Mark for (d) = 7 out of 8

How the candidate could improve their answer

e (d) Overall, the candidate has provided a good response. The response would have benefited from more
depth, e.g. on the benefits of greater awareness of the importance of healthcare and how pollution lowers living
standards.
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Example Candidate Response — middle
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0 The candidate provides an
explanation of why health might be
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How the candidate could improve their answer

e (a) The candidate needed to be more accurate and precise when giving a definition.
e (b) The candidate’s points needed more explanation.

e (c) The candidate needed to explain in more detail, e.g. in terms of employing less labour if costs rise, the
response could have been more specific about wages rising.

¢ (d) The candidate should have been thinking ‘why’ and ‘how’ when making points. For example, the candidate
could have explained why there might be better jobs, why the cost of living is high, why there are more unemployed
people. The other side of the candidate’s response tended to be just the reverse of the first side.
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Example Candidate Response — low

0 The candidate provides an
answer but this needs to be linked to
a change in price.

Mark for (a) = 0 out of 2

9 The candidate identifies relevant
points.

Mark for (b) = 2 out of 4

e The candidate recognises the
influence of the type of farming.

e The candidate explains another
influence, which is the demand for
food.

Mark for (c) = 3 out of 6

e The candidate explains the
influence of the demand for the
product.

6 The candidate provides a
relevant statement for one side of
the argument.

0 The candidate provides a
relevant statement for the other side
of the argument.

Mark for (d) = 2 out of 8

Total mark awarded = 7 out of 20

How the candidate could improve their answer

¢ (a) The candidate needed to provide a more precise definition that was linked to a change in price.
¢ (b) and (c) The candidate needed to explain their points in detail.
o (d) The candidate stated relevant points in the response but these needed to be explained.

Common mistakes and guidance

e (a) Some candidates appeared to rush their answers to this question and defined just supply or elastic demand.
For those candidates who did attempt to define elastic supply, a relatively high proportion did not recognise that
elasticity is concerned with percentage changes in price and quantity supplied and not absolute changes.

¢ (b) Candidates were asked to ‘Explain two reasons’. Candidates should understand that identifying three or four
reasons without explaining them is not sufficient. Also identifying and explaining three or four reasons is not the
best use of candidates’ time.

o (c) All questions should be read carefully. Some candidates wrote about what may cause someone to become a
farmer. This was not the question. Several candidates identified a few influences but did not analyse them. A high
proportion of candidates did not understand the difference between production and productivity.

¢ (d) Some candidates’ answers were descriptive and repetitive. Answers needed to be based on economic analysis.
For example, some responses described traffic congestion in city centres. Stronger responses went on to explain
the external costs this could cause.
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Question 5

Example Candidate Response hlgh ‘ Examiner comments
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0 The candidate makes two
relevant identifications.

Mark for (a) = 2 out of 2

9 The candidate demonstrates
a good understanding that
disequilibrium occurs if there is
shortage or surplus.

e The candidate explains how
price changes could bring the
market back to equilibrium.

o The candidate correctly explains
what will happen when there is a
surplus.

Mark for (b) = 4 out of 4

e The candidate accurately labels
the axes.

6 The candidate uses an arrow
to correctly indicate a short of the
product possibility curve to the left.

0 The candidate recognises that
the productive capacity will be
reduced.

Mark for (c) = 5 out of 6



Example Candidate Responses — Paper 2

Examiner comments

Example Candidate Response — high, continued
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How the candidate could improve their answer

e The candidate begins to analyse.

9 The candidate begins to analyse
from the other side of the argument.

Mark for (d) = 7 out of 8

Total mark awarded = 18 out of 20

¢ (c) The candidate recognised that production potential would decline but does not mention that a fall in the labour
force would reduce resources.

e (d) The candidate needed to provide a more in-depth discussion around why exports may be beneficial.
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Example Candidate Response — middle
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0 The candidate gives the idea of
less pressure on resources.

Mark for (a) = 1 out of 2

e The candidate shows an
understanding of market equilibrium.

Mark for (b) = 1 out of 4

e The candidate shows two curves
with a clear indication that the curve
has moved to the left.

Mark for (c) = 3 out of 6



Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued ‘ Examiner comments
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How the candidate could improve their answer

¢ (a) The candidate needed to be more precise when answering this question as better job opportunities and better
services is too vague.

¢ (b) The candidate needed to demonstrate an understanding of market disequilibrium.

e (c) The candidate needed to label the axes on the diagram and the answer needed to be clearer on productive
capacity.

e (d) The candidate needed to demonstrate more width in terms of the number of economic variables that could be
affected by an increase in exports, and more depth in terms of links.
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‘ Examiner comments

0 The candidate identifies two
relevant benefits.

Mark for (a) = 2 out of 2

e The candidate demonstrates
some understanding of market
equilibrium.

Mark for (b) = 1 out of 4

e The candidate demonstrates
an awareness that the production
possibility curve will shift to the left.

Mark for (c) = 1 out of 6

e The candidate suggests a higher
export revenue but the comments
on trade restrictions are confused,
given that the question is based on
exports increasing.

Mark for (d) = 1 out of 8

Total mark awarded = 5 out of 20
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How the candidate could improve their answer

¢ (b) The candidate needed to provide more points and explanation in relation to how a market moves from
disequilibrium to equilibrium.

¢ (c) The candidate needed to label the axes. Production possibility curves should be drawn to the axes and should
be labelled. The candidate’s written comments reveal a confusion between a decrease in the labour force and
unemployment and between output and productive capacity.

e Questions should be read carefully so that the answers provided are clearly focused.

Common mistakes and guidance

¢ (a) Some candidates provided explanations of the benefits they identified. This was not required.
¢ (b) Some candidates showed either none or very little understanding of market disequilibrium.

e (c) When drawing production possibility curves, it is important that candidates draw the curves to the axes. They
should also label the axes correctly and avoid confusing production possibility curve diagrams with demand and
supply diagrams.

e (d) The answers to this question revealed several confusions for candidates. These included confusion between
exports and imports, export volume and export revenue and export revenue and government tax revenue.
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